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Which equation could be used to solve [image: image1.png]


?

	1)
	[image: image2.png]0





	2)
	[image: image3.png]—6x+3

0





	3)
	[image: image4.png]0





	4)
	[image: image5.png]—6x+6

0







2
Which value of x is the solution of  [image: image6.png]
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What is the solution of the equation [image: image15.png]=
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What is the solution of the equation [image: image20.png]Wi
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What is the solution set of  [image: image25.png]
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What is the solution of  [image: image30.png]
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Which value of x is the solution of  [image: image35.png].
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What is the solution of the equation [image: image39.png]LI
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What is the value of x in the equation  [image: image40.png]
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What is the solution set of [image: image44.png]
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What is the solution set of the equation [image: image49.png]
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Solve algebraically for all values of x that satisfy the equation:  [image: image54.png]
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Solve algebraically for x:  [image: image56.png]
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Solve algebraically for all values of x:  [image: image57.png]
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Solve algebraically for the exact values of x:  [image: image58.png]
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Solve for x:  [image: image60.png]
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Solve algebraically for x:  [image: image61.png]Rl
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Solve algebraically:  [image: image62.png]



[Only an algebraic solution can receive full credit.]
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Solve algebraically for x:  [image: image63.png]
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Solve the equation below algebraically, and express the result in simplest radical form:
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